
SAP ABAP table VIWB00 {Hauptwirtschaftlichkeitsberechnung}

VIWB00

MANDT [CLNT (3)]

SWBNR [CHAR (8)]

BUKRS [CHAR (4)]

STAT [NUMC (1)]

BWAEHRUNG [CUKY (5)]

FEINS [UNIT (3)]

T000

MANDT [CLNT (3)] VIWB00-MANDT = T000-MANDT 
0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]
 VIWB00-BUKRS = T001-BUKRS 0..N

1
T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 VIWB00-FEINS = T006-MSEHI 
0..N1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 VIWB00-BWAEHRUNG = TCURC-WAERS 

0..N

1

TIVWB03

MANDT [CLNT (3)]

STAT [NUMC (1)]

 VIWB00-STAT = TIVWB03-STAT 

0..N

1


